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[R4.9.30IR7E JATEET 4 (K=F) AlE A A O (%)

TRET(KF)a—FK {TEET (K=FE)E 303 31/ 323 33m 34 35 36@ 37% 38 39

1250 fEEHET 0 2 1 1 2 0 2 2 3 1
1260 B & 0 0 0 1 0 0 0 0 0 0
1270 EEHT 2 3 5 0 1 3 0 1 0 2
1280 FRAHET 1 0 3 1 1 1 1 0 2 2
1290 $RHET 1 0 2 0 0 0 2 1 2 2
1300 & EEHT 3 2 0 2 0 1 2 4 3 1
1310 RJLHET 1 2 0 0 0 0 1 0 0 0
9999 KM XET 79 69 76 93 81 65 86 100 97 84
1510 A& _E BT 10 1 3 6 8 10 4 13 9 3
1520 HEHTHET 4 0 5 7 6 5 4 5 7 7
1530 }EHTHT 8 5 0 0 3 2 4 1 3 1
1540 K4EFHT 6 3 3 5 5 7 4 5 4 4
9999 FEMNA: X 5 28 9 11 18 22 24 16 24 23 15
2010 EE AT 2 0 2 2 1 0 2 2 2 3
2020 % E gl 3 2 3 6 2 3 3 6 5 3
2030 E0HT 0 1 1 0 0 0 0 0 0 0
2040 :NET—TH 1 3 1 2 1 1 2 2 1 3
2050 BT =T B 1 1 0 1 0 3 0 4 2 2
2060 ¥g AT 0 0 1 0 0 0 0 0 0 0
2070 FxEBT—TH 0 3 2 7 2 3 3 5 2 3
2080 FRET—TH 2 0 2 2 1 6 2 0 0 4
2090 THiRAT 9 13 11 19 15 15 17 16 14 18
2100 fhdLHT 2 3 2 5 2 3 4 2 2 3
2110 }EWIETET—T B 1 3 5 1 4 0 2 2 2 2
2120 HEMIFTETZT B 1 1 3 4 2 4 2 1 1 5
9999 £ ERXET 22 30 33 49 30 38 37 40 31 46
2510 FAMEET 17 17 21 30 24 33 31 23 23 23
2520 sk EeHT 6 9 14 17 12 17 10 11 21 21
2530 = /INRHET 4 4 4 6 11 4 2 5 5 1
2540 FHi5HT 2 5 7 3 3 5 2 5 2 3
2550 ;HHET 4 2 0 3 5 2 3 1 2 3
2560 = EHT 8 9 7 4 8 14 8 5 8 10
2570 X &HT 1 0 0 0 0 0 0 0 0 1
9999 ME R X ET 42 46 53 63 63 75 56 50 61 62
3010 X#FHET 8 9 6 12 6 6 13 16 10 8
3020 gt ;IHT 9 13 6 6 11 10 13 14 11 17
3030 _EEFHT 6 8 10 8 6 9 9 8 5 8
3040 &S _LHET 0 1 0 1 1 1 0 1 4 0
3050 B AT 29 16 18 38 26 29 38 39 42 31
3060 B THT 5 4 2 5 3 4 5 4 3 2
3070 HEAEAT 9 0 6 5 8 5 4 10 3 3
3080 H hHT 2 5 5 4 5 9 9 4 5 12
3090 H A E AT 5 2 3 6 10 13 4 7 6 6
3100 EH R FEHET 6 7 2 6 4 5 4 11 9 6
3110 EHAILHET 4 5 10 4 5 3 1 7 2 3
9999 /\FHERXET 83 70 68 95 85 94 100 121 100 96
3510 £[R AT 1 3 0 2 1 0 0 0 1 3
3520 £ R chfT 3 1 4 4 0 4 3 3 1 3
3530 &R THT 10 13 11 13 15 12 9 9 18 17
3540 =B KHT 0 1 4 2 2 3 1 2 1 2
3550 AETHT 1 4 7 5 8 6 8 5 7 9
3560 = T B HET 0 2 1 2 0 5 2 3 4 2
3570 = T AT 8 7 11 8 12 10 6 5 10 7
3580 FLIFTHT 8 6 2 4 5 6 10 0 1 1
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XH24 T F REARBIREZD—EREIZKYSNEANZEH-AO
[R4.9.30IR7E JATEET 4 (K=F) AlE A A O (%)

THET(KF)2—F {THET(KF)E 40 418 42 43 44m% 45  46i% 47mk 48 49

1250 fEEHET 1 3 1 0 1 1 1 1 2 3
1260 B & 0 1 1 0 0 0 0 0 2 0
1270 EEHT 0 2 1 2 0 3 1 2 0 0
1280 FRAHET 1 1 1 2 2 1 1 1 1 4
1290 $RHET 4 2 2 1 2 1 2 5 3 3
1300 & EEHT 4 1 1 2 1 3 1 1 1 0
1310 RJLHET 0 0 1 1 1 2 1 1 0 1
9999 KM XET 97 92 83 99 92 92 87 96 86 105
1510 A& _E BT 2 9 7 10 10 14 10 8 10 6
1520 HEHTHET 9 11 5 9 7 6 10 17 14 9
1530 }EHTHT 3 2 2 2 0 4 1 6 4 4
1540 K{Z3FHT 5 4 4 4 5 5 6 10 4 13
9999 FEMNA: X 5 19 26 18 25 22 29 27 41 32 32
2010 EE AT 5 1 3 3 6 5 4 2 2 0
2020 % E gl 8 3 2 3 7 6 1 9 3 7
2030 E0HT 0 0 0 0 0 0 0 0 1 0
2040 ;ET—T H 0 0 3 1 1 2 2 7 3 1
2050 BT =T B 4 5 3 2 1 1 1 4 1 5
2060 ¥g AT 0 0 0 1 1 1 2 0 0 0
2070 FxEBT—TH 4 1 1 2 2 2 2 2 0 3
2080 FRET—TH 3 3 1 1 5 3 3 3 1 4
2090 THiRAT 24 27 25 17 17 24 20 18 25 23
2100 fhdLHT 5 3 2 4 9 3 6 4 3 2
2110 }EWIETET—T B 0 3 3 2 4 4 4 5 3 2
2120 HEMIFTETZT B 3 2 4 5 7 6 2 4 3 5
9999 £ ERXET 56 48 47 41 60 57 47 58 45 52
2510 FAMEET 27 26 32 40 31 33 40 39 35 28
2520 sk EeHT 20 23 13 27 19 26 24 16 16 17
2530 = /INRHET 5 4 6 3 4 5 1 4 3 5
2540 FHi5HT 3 7 1 5 2 3 4 9 1 9
2550 ;HHET 4 0 2 2 2 4 5 2 0 1
2560 = SHT 14 15 12 11 13 5 19 14 12 16
2570 K EHT 1 1 1 4 2 2 1 2 0 0
9999 ME R X ET 74 76 67 92 73 78 94 86 67 76
3010 KATHT 12 12 14 26 8 16 16 11 17 12
3020 ;BT HT 14 11 14 5 13 17 14 20 12 20
3030 L EFHT 11 8 9 11 10 16 12 11 12 13
3040 &S _LHET 2 0 0 0 1 4 2 3 2 1
3050 R AT 34 25 26 23 19 32 36 39 26 33
3060 B THT 11 5 3 6 2 7 5 3 6 6
3070 wyESEAT 5 8 3 7 4 8 9 6 8 4
3080 HHHHT 5 8 6 4 8 5 3 4 7 8
3090 EHRERHAT 6 8 5 9 8 6 7 6 5 6
3100 EH R FEHET 2 7 6 6 5 7 9 4 5 10
3110 EHAILHET 5 2 5 5 6 3 5 10 6 8
9999 /\FHERXET 107 94 91 102 84 121 118 117 106 121
3510 27 _FHT 1 0 1 2 0 0 1 5 1 5
3520 £ R chfT 1 3 3 3 1 8 3 4 6 7
3530 &R THT 14 8 11 11 9 9 5 11 17 12
3540 =B KHT 1 2 8 4 5 5 6 4 4 4
3550 AEFHET 5 12 7 8 6 15 14 6 12 7
3560 = T B HET 3 3 2 2 1 3 2 0 4 8
3570 = T AT 8 9 6 7 8 6 7 9 7 7
3580 FLIFTHT 6 7 6 4 2 8 8 6 10 7
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[R4.9.30IR7E JATEET 4 (K=F) AlE A A O (%)

THET(KF)2—F {THET(KF)E 40 418 42 43 44m% 45  46i% 47mk 48 49

3590 JEMT 0 0 0 0 0 0 0 0 0 1
9999 S HKXE 39 44 44 41 32 54 46 45 61 58
4010 41| RET 1 1 3 5 2 4 3 5 2 3
4020 {E&HT 0 0 0 1 1 0 1 1 0 1
4030 5HT 3 3 1 0 4 2 3 6 2 2
4040 = HEAHT 1 1 2 2 2 4 0 0 6 5
4050 7K EHT 5 7 3 2 3 3 4 9 5 6
4060 E5Z HAT 2 2 4 1 5 7 2 9 3 1
4070 JtJRHET 1 1 2 0 3 1 2 2 1 2
4080 =;T;HAMT 3 3 2 0 1 3 1 3 2 2
4090 FR ek HET 0 2 0 2 2 1 5 6 4 2
4100 g FEFOET 4 1 2 0 1 0 2 2 1 2
4110 JtEFnET 2 5 2 0 1 3 2 0 2 0
9999 2RI X st 22 26 21 13 25 28 25 43 28 26
4510 EREE—ZEHT 7 8 5 5 8 8 6 8 5 11
4520 EREE — AT 3 2 4 3 2 2 2 1 2 2
4530 EREE=ZEHT 2 2 3 4 2 0 1 4 1 1
4540 B} EErUZEET 3 1 3 0 1 0 1 1 3 1
4550 EREE FFHT 0 3 0 0 2 2 0 0 1 1
4560 AREE/EHET 0 1 2 2 2 2 1 0 0 1
4570 EREE-HZFHET 0 2 0 1 1 1 2 4 3 2
4580 ERZE/)\ZHEHT 2 1 0 2 0 0 2 0 1 0
4590 EREE N FEHT 2 3 2 4 1 1 4 1 1 1
4600 EREE-+ZEHET 4 5 10 6 6 3 3 4 1 1
4610 EREE+—ZHT 4 1 2 2 2 1 1 2 1 2
4620 B+ —FET 3 3 2 4 0 0 3 0 2 4
9999 ERERXET 30 32 33 33 27 20 26 25 21 27
5010 BRF0H £ HT 3 2 2 3 3 4 3 3 1 5
5020 FAF0BAEET 2 0 3 2 1 5 1 2 4 5
5030 FRFNREI{—HT 4 2 2 3 2 1 5 3 2 1
9999 AFIAXET 9 4 7 8 6 10 9 8 7 11
5510 b RHET 1 2 3 0 0 2 1 2 0 4
5520 = HhHET 7 7 9 7 9 9 13 7 1 4
5530 75 = /T 6 2 9 3 5 3 9 9 6 8
5540 THEHRT 6 2 5 0 1 1 2 3 4 2
5550 EEHET 0 1 0 0 0 0 1 0 0 0
9999 =R X 5t 20 14 26 10 15 15 26 21 21 18
6010 [EIHAT/MER 0 1 3 1 1 0 2 1 2 2
6020 [z ET = 2 1 1 1 0 1 3 1 1 1
6030 [EET A I 0 1 0 1 1 1 0 0 2 0
6040 EiEIFHET 3 2 2 1 4 1 2 1 1 4
6050 JI|ABTE 0 2 1 1 2 0 1 1 1 2
6060 JI|EHETF 2 2 1 1 1 0 1 1 1 2
9999 FEEMRXET 7 9 8 6 9 3 9 5 8 11
6510 B &= A#GHET 1 0 0 0 0 0 0 0 0 0
6520 HZEAKIEHET 0 4 0 4 2 2 4 1 1 3
6530 B E AFTHHET 0 1 1 0 0 0 0 2 0 1
6540 HZEALLTHET 1 2 2 0 0 4 3 1 2 3
6550 B E A Z NET 3 1 0 1 1 1 0 1 0 0
6560 HRAIEILHET 2 2 2 2 1 1 2 2 0 1
6570 B EALERIHET 0 1 1 0 1 0 1 1 0 2
6580 H&EAEHT 0 1 1 0 0 2 0 1 0 0
6590 HZ= ATHET 0 0 0 0 1 0 0 1 0 0
6600 B &= AT 0 1 0 0 0 1 1 0 1 0
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XH24 T F REARBIREZD—EREIZKYSNEANZEH-AO
[R4.9.30IR7E JATEET 4 (K=F) AlE A A O (%)

THET(KF)2—F {THET(KF)E 40 418 42 43 44m% 45  46i% 47mk 48 49

9210 $EHET = H 4 4 1 3 3 4 8 5 3 10
9220 SxETHH 5 5 5 7 14 6 3 9 8 5
9230 $EHTE M 2 9 7 10 12 11 4 2 8 10
9240 $EHETIEE 2 3 0 3 1 3 4 3 0 3
9250 % HT At #r b 11 8 7 7 6 11 5 2 7 5
9999 S XET 73 92 74 93 79 88 83 73 84 79
9310 E[FHET:AR 0 2 0 3 3 2 1 1 1 3
9320 H[SHETIL 1 3 1 1 1 1 2 3 3 3
9330 FH[SAT/INE 1 1 2 0 0 2 2 2 4 0
9340 R [ZHTR 1 3 3 2 4 4 0 4 5 3
9999 R[GHXET 3 9 6 6 8 9 5 10 13 9
9410 RETT & 2 1 3 6 1 5 3 4 3 0
9420 RHETHHE 0 2 1 0 0 1 0 0 1 1
9430 RETFER 0 0 0 0 0 2 0 0 1 0
9440 RETAEF 0 0 0 0 0 0 0 0 0 0
9450 RHETHER 0 0 0 1 0 0 0 0 0 0
9460 RET{—_HE 0 0 0 0 0 0 0 1 0 0
9470 RETEXR 0 0 1 0 0 0 0 0 0 0
9480 RHETHER 0 0 0 1 1 0 0 0 0 2
9999 RIXXEt 2 3 5 8 2 8 3 5 5 3
99999 &Rt 682 692 653 736 690 770 763 815 743 820



XH24 T F REARBIREZD—EREIZKYSNEANZEH-AO
[R4.9.30IR7E JATEET 4 (K=F) AlE A A O (%)

TRET (K a—FK THRET(KF)& 50 51 52 53mk 54k 55 56 57 58 59
10 HAT
20 [ d-HT
30 @M
40 LRHET
50 KET—T B
60 RET_TH
70 RET=TH
80 AT IR AT
90 PN I ET
100 b ALET
110 #A;THT 1
120 #A;TAHET
130 ¥ FHT
140 HEAE BT
150 1 FFrHET
9999 KB XEt 5
510 AETHT B
520 4L EEMT
530 J\It&HET
540 15 EHT
550 FithET
560 = ZEHT
570 EEHT
580 ¥TREAET
590 FriEMT
600 ZEARET 1
610 FHT
620 FiEET—T B
630 ¥TERT T H
9999 J\ KXt 4
1010 B A HT
1020 £ A HT
1030 b HT
1040 74 FrHT
1050 & FHHET
1060 FH _EHT
1070 F7[RHET 1
1080 & FHHT
1090 Hi&Hr
1100 L BEHT
1110 $Z1EHT
1120 1@ IE JTHT
1130 +4<HT
1140 Fi R ET
1150 #/RET—T B
1160 ¥ RET=TH
1170 ;B/KHET
1180 E&AL.HT
1190 #&FARHT
1200 XFHET—TH
1210 XFHEIZTH
1220 $HET
1230 %KHET
1240 ZEET
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XH24 T F REARBIREZD—EREIZKYSNEANZEH-AO
[R4.9.30IR7E JATEET 4 (K=F) AlE A A O (%)

THRET(KF)a—FK {TEET (K=FE)® 508 51/ 52&% 53/ 54k 55m 56k 57@ 58% 59

1250 fEEIRT 1 2 2 2 1 3 2 0 3 4
1260 B & 0 0 0 0 0 0 1 0 0 3
1270 EEHT 2 2 1 0 0 0 1 0 2 1
1280 FRAHET 2 3 4 0 4 1 1 2 5 2
1290 $RHET 1 1 2 3 4 3 0 4 1 3
1300 & EEHT 1 2 1 2 1 1 3 4 1 0
1310 RJLHET 1 2 0 2 2 5 0 1 2 1
9999 K HEMRXET 80 108 98 121 112 100 83 117 94 97
1510 A& _E BT 10 7 8 8 9 9 7 11 13 8
1520 HEHTHET 10 10 12 7 1 8 10 14 5 8
1530 }EHTHT 7 1 1 3 5 9 2 2 4 2
1540 K{Z3FHT 7 8 8 8 10 8 6 5 12 10
9999 FEMNA: X 5 34 26 29 26 35 34 25 32 34 28
2010 EE AT 2 3 2 4 3 5 1 4 2 1
2020 % EFGHT 5 5 5 2 4 8 1 5 2 0
2030 AT 0 0 0 1 0 0 0 0 0 0
2040 ;ET—T H 5 3 6 4 3 1 2 2 4 3
2050 BT =T B 2 1 1 4 2 5 2 3 1 1
2060 #5 AT 0 0 1 1 0 0 0 1 0 1
2070 FxEBT—TH 4 4 3 5 7 1 2 2 4 2
2080 FRET—TH 0 3 1 3 3 4 2 1 2 1
2090 THiRAT 22 24 25 18 21 14 18 23 17 18
2100 fhdLHT 4 2 6 2 2 3 1 1 4 4
2110 }EWIETET—T B 4 3 2 2 5 3 4 5 5 6
2120 HEMIFTETZT B 3 7 8 4 1 2 5 3 3 6
9999 £ ERXET 51 55 60 50 51 46 38 50 44 43
2510 FAMEET 37 36 25 22 19 39 18 30 22 26
2520 sk EeHT 22 15 17 24 27 16 22 15 22 18
2530 = /INRHET 3 2 7 9 5 4 2 3 7 3
2540 FHi5HT 1 6 4 7 3 7 6 9 6 4
2550 ;HHET 0 4 0 2 4 7 4 2 2 5
2560 = SHT 10 16 9 12 8 16 15 15 12 6
2570 X &HT 1 0 1 1 0 1 0 0 0 0
9999 ME R X ET 74 79 63 77 66 90 67 74 71 62
3010 KATHT 14 7 14 13 9 13 10 11 13 13
3020 ;BT HT 14 14 16 15 20 13 11 17 8 10
3030 L EFHT 14 22 10 8 8 19 8 13 15 12
3040 &S _LHET 1 2 3 3 1 4 1 0 2 1
3050 B AT 29 35 20 30 28 32 29 52 28 37
3060 BN THET 5 10 7 6 7 4 7 6 4 7
3070 THESEHT 5 3 8 9 7 7 6 7 7 5
3080 H hHT 7 11 2 7 5 3 2 7 9 4
3090 H A E AT 8 7 7 6 2 6 1 3 5 3
3100 EH R FEHET 8 5 6 8 6 8 11 5 8 7
3110 EHAILHET 4 6 3 5 7 5 5 8 7 7
9999 /\FHERXET 109 122 96 110 100 114 91 129 106 106
3510 2R LHT 0 1 1 1 3 5 0 2 11 4
3520 £ R chfT 1 5 7 3 8 4 7 5 4 3
3530 &R THT 17 14 15 16 7 15 11 14 19 20
3540 =B KHT 3 7 8 7 4 7 2 11 4 4
3550 AEFHET 6 8 4 9 6 10 11 11 10 8
3560 = T B HET 1 2 4 4 5 5 4 2 0 4
3570 = T AT 18 7 13 13 14 12 12 11 12 4
3580 FLIFTHT 8 9 7 7 5 7 4 5 9 1



XH24 T F REARBIREZD—EREIZKYSNEANZEH-AO
[R4.9.30IR7E JATEET 4 (K=F) AlE A A O (%)

THRET(KF)a—FK {TEET (K=FE)® 508 51/ 52&% 53/ 54k 55m 56k 57@ 58% 59

3590 JEMT 0 0 0 0 0 0 0 0 0 0
9999 S HKXE 54 53 59 60 52 65 51 61 69 48
4010 41| RET 8 4 4 4 4 2 1 4 2 8
4020 {E&HT 0 2 4 1 0 1 0 1 2 0
4030 5HT 3 4 3 3 1 6 3 0 4 4
4040 = HEAHT 2 4 3 5 4 2 3 4 1 5
4050 7K EHT 4 5 5 8 7 6 5 2 8 5
4060 E5Z HAT 4 6 6 5 5 5 7 2 3 1
4070 JtJRHET 3 3 1 2 2 5 2 1 3 3
4080 =;T;HAMT 2 2 3 3 3 1 1 2 2 4
4090 FR ek HET 4 3 3 3 4 3 1 7 2 5
4100 g FEFOET 2 0 0 0 4 2 3 0 2 0
4110 JtFFOET 0 5 3 1 1 2 3 0 0 1
9999 2RI X st 32 38 35 35 35 35 29 23 29 36
4510 EREE—ZEHT 7 5 6 3 8 10 8 11 13 6
4520 EREE — AT 5 2 1 3 2 3 1 3 0 2
4530 EREE=ZEHT 2 1 0 4 1 2 1 1 1 0
4540 B} EErUZEET 1 1 1 1 3 2 2 1 3 0
4550 EREE FFHT 1 3 4 1 1 2 2 1 1 2
4560 AREE/EHET 0 1 1 1 2 0 1 1 2 0
4570 EREE-HZFHET 0 0 3 3 2 1 1 1 2 3
4580 ERZE/)\ZHEHT 0 0 1 1 0 0 0 0 1 0
4590 EREE N FEHT 1 0 2 0 2 0 1 1 0 0
4600 EREE-+ZEHET 0 0 2 2 2 1 0 2 2 2
4610 EREE+—ZHT 2 2 1 0 0 2 0 4 3 0
4620 B+ —FET 2 3 2 0 1 2 4 3 3 6
9999 ERERXET 21 18 24 19 24 25 21 29 31 21
5010 BRF0H £ HT 2 3 1 3 5 3 1 1 6 3
5020 FAFNBAELET 4 2 1 2 2 2 2 3 4 0
5030 FRFNREI{—HT 3 1 0 1 2 2 3 5 2 4
9999 AFIAXET 9 6 2 6 9 7 6 9 12 7
5510 b RHET 4 4 3 2 1 5 2 4 1 5
5520 = AT 10 4 5 4 6 13 3 4 13 8
5530 75 = /T 5 10 4 3 6 12 5 6 5 4
5540 T EERT 2 1 4 4 3 5 1 3 2 4
5550 EEHET 0 1 0 1 0 0 0 1 3 0
9999 =R X 5t 21 20 16 14 16 35 11 18 24 21
6010 [EIHAT/MER 1 0 0 0 1 2 1 0 0 3
6020 [EHT 4 0 2 0 1 1 0 2 3 4 0
6030 [EET &I 0 1 0 2 1 3 1 2 2 0
6040 EiEIFHET 3 0 4 3 1 1 1 2 5 3
6050 JI|ABTE 0 3 2 2 1 2 2 2 0 4
6060 JI|EHETF 1 3 2 3 0 0 0 3 0 0
9999 FEEMRXET 5 9 8 11 5 8 7 12 11 10
6510 H X A#EAHT 1 0 0 1 0 0 0 0 0 1
6520 H & A KIEHET 2 2 1 3 1 0 3 0 4 2
6530 B E AFTHHET 0 0 2 1 3 0 1 2 0 2
6540 HZEALLTHET 0 3 2 1 4 0 0 1 2 3
6550 B E A Z NET 1 1 1 0 1 2 0 0 0 1
6560 HRAIEILHET 0 0 2 2 2 1 2 1 2 1
6570 HZ=AIEEgHT 0 1 4 2 1 1 3 1 0 1
6580 H&EAEHT 0 0 0 1 0 1 1 1 0 3
6590 HZ= ATHET 1 1 1 0 1 0 1 0 1 3
6600 B &= AT 1 0 0 0 2 0 1 3 0 0



XH24 T F REARBIREZD—EREIZKYSNEANZEH-AO
[R4.9.30IR7E JATEET 4 (K=F) AlE A A O (%)

517 52i%

THRET (KF)3—F {THRET(KF)%& 50
6610 HEA _LFEHT
6620 HZE AT
6630 HZE AT FGHET
6640 B &= A EitslT
6650 B ZASHET
6660 HZ A RLHET
9999 HEARKKXET
7010 Z R MO ET
7020 — R AHT
7030 = R FR#AHET
7040 — BT KEFHET
7050 — R ¥y H I HET
9999 — R&XEt
8011 IRAETFEHERLY
8012 IR AHTFHERA
8013 YR AHTFEER (&
8021 IRAHTIZEKLY
8022 YR AHETIEKA
8023 IR AHTIEKIL
8031 YAHETH ALY
8032 IRAHTHA A
8033 FAHETH AL
8041 IR AHTELIRL
8042 IR AHTELIRA
8043 IR AHTELIR L
8044 IR AHTELIRIC
8045 IR AHTELIR (X
8050 YR AHETIRA
8060 YR ABTFTHA
8070 JRABTER
8080 MR AETHkHA
8090 IR AHTHEE
8100 JRAHBTH /1%
8110 IRAHTJII 5
8120 IR AHTER"
8130 YRAHETH L
8140 JRABIEEZEXT
8150 IR AHBTEFRK L
9999 AKX 5T
9010 +THTAKEH
9020 FTHTHEA
9030 FTHT#FHAEH
9040 FTHIHEHE
9999 FTHXET 54
9110 SEET AL
9120 $ERTH L
9130 FRETH B
9140 $RET T+t
9150 $RHT L§%
9160 $RATEEHT
9170 $ERTNH
9180 $xHTEE
9190 $FETZ O
9200 $EHTEFIF
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XH24 T F REARBIREZD—EREIZKYSNEANZEH-AO
[R4.9.30IR7E JATEET 4 (K=F) AlE A A O (%)

TRET (K a—FK THRET(KF)& 50 51 52 53mk 54k 55 56 57 58 59
9210 SFET=EH 13
9220 SxETHH 10
9230 $EHTE M
9240 $RHETIEE
9250 % HT At #r b
9999 R &t
9310 E[FHET:AR
9320 H[SHETIL
9330 E[FZHET/INE
9340 R [ZHTR
9999 R[GHXET
9410 RET T &
9420 RHETHHE
9430 RETFER
9440 RETAEF
9450 RHETHER
9460 RET{—_HE
9470 RETEXR
9480 RHETHEAR
9999 REXEt
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XH24 T F REARBIREZD—EREIZKYSNEANZEH-AO
[R4.9.30IR7E JATEET 4 (K=F) AlE A A O (%)

TRET (K a—F THRET(KF)®& 60 61/ 62/ 63/ 64 65i% 66 67i 68 69
10 HAT
20 [ d-HT
30 @M
40 LRHET
50 KET—T B
60 RET_TH
70 RET=TH
80 AT IR AT
90 FEHATIRAT
100 b ALET
110 #A;THT 1
120 #A;TAHET
130 t&FHT
140 HEAE BT
150 1 FFrHET
9999 KB XEt 5
510 AETHT B
520 4L EEMT
530 J\It&HET
540 15 EHT
550 FithET
560 = ZEHT
570 EEHT
580 ¥TREAET
590 FriEMT
600 ZEARET 1
610 FHT
620 FiEET—T B
630 ¥TERT T H
9999 J\ KXt 3
1010 B A HT
1020 £ A HT
1030 b HT
1040 74 FrHT
1050 = HHET
1060 FH _EHT
1070 F7[RHET 1
1080 & HHET
1090 Hi&Hr
1100 £ BEHT 1
1110 $Z1EHT
1120 {E1E JTHT
1130 +4<HT
1140 Fi R ET
1150 #/RET—T B
1160 ¥ RET=TH
1170 ;B/KHET
1180 E&AL.HT
1190 #&FARHT
1200 XFHET—TH
1210 XFHEIZTH
1220 $HET
1230 %KHET
1240 ZEET
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XH24 T F REARBIREZD—EREIZKYSNEANZEH-AO
[R4.9.30IR7E JATEET 4 (K=F) AlE A A O (%)

THET(KF)a—K {TEET (K=FE)® 603 6173 623 63/ 645 65/ 66F 67/ 68F 69

1250 fEEIRT 1 3 0 1 1 0 3 3 1 0
1260 B & 0 0 1 2 0 0 2 0 2 0
1270 EEHT 4 4 1 0 1 2 2 0 3 2
1280 FRAHET 3 1 1 1 1 1 2 1 3 6
1290 $RHET 2 0 1 4 2 5 2 5 2 4
1300 & EEHT 2 2 1 4 1 0 1 3 0 0
1310 RJLHET 2 1 4 3 3 0 2 2 1 0
9999 K HEMRXET 125 98 101 116 101 84 108 118 103 125
1510 A& _E BT 12 8 6 11 9 9 14 8 7 12
1520 HEHTHET 7 14 14 9 1 12 9 13 10 11
1530 }EHTHT 3 7 4 6 5 12 1 4 6 7
1540 K4EFHT 4 7 11 6 9 7 5 9 13 8
9999 FEMNA: X 5 26 36 35 32 34 40 29 34 36 38
2010 EE AT 2 2 3 3 1 1 6 3 2 0
2020 %= EFGHET 6 3 2 6 2 6 4 3 2 4
2030 AT 0 0 0 0 2 4 0 1 0 0
2040 ;ET—T H 1 2 2 2 2 2 1 0 2 2
2050 BT =T B 1 3 3 0 2 2 4 4 2 3
2060 gt ET 1 1 0 1 0 3 1 3 1 1
2070 FxEBT—TH 3 4 6 5 4 3 4 6 3 2
2080 FRET—TH 2 5 4 2 1 3 2 4 2 1
2090 THiRAT 18 28 25 22 21 26 27 32 35 32
2100 fhdLHT 3 2 1 3 2 0 6 8 2 7
2110 }EWIETET—T B 2 3 3 4 4 1 1 5 5 7
2120 HEMIFTETZT B 4 3 0 7 6 4 5 8 5 0
9999 £ ERXET 43 56 49 55 47 55 61 77 61 59
2510 FAMEET 37 20 26 36 31 24 18 26 32 29
2520 sk EeHT 15 21 19 28 20 21 25 14 20 17
2530 = /INRHET 8 8 10 6 2 5 3 8 5 10
2540 FHi5HT 9 10 4 5 6 4 8 5 9 9
2550 ;HHET 1 1 6 4 3 3 4 7 3 5
2560 = SHT 6 12 13 17 12 13 12 16 17 13
2570 X &HT 0 0 1 1 2 2 0 0 1 3
9999 ME R X ET 76 72 79 97 76 72 70 76 87 86
3010 KATHT 13 14 11 15 10 13 1 10 15 15
3020 ;BT HT 13 11 11 16 10 13 14 11 11 15
3030 L EFHT 7 11 14 9 12 13 8 10 12 9
3040 &S _LHET 2 0 4 1 3 1 2 3 3 2
3050 B AT 18 31 37 30 28 40 24 24 33 26
3060 BN THET 10 7 7 8 9 5 4 9 3 6
3070 HEAEAT 2 3 7 8 4 12 7 9 5 10
3080 H hHT 6 5 9 5 3 3 3 6 5 2
3090 HHRERHAT 6 7 8 4 2 6 2 6 1 6
3100 EH R FEHET 6 4 2 8 7 7 8 9 9 7
3110 EHAILHET 7 10 8 11 3 4 10 4 8 11
9999 /\FHERXET 90 103 118 115 91 117 93 101 105 109
3510 27 _FHT 1 3 4 6 2 2 0 4 1 3
3520 £ R chfT 8 3 7 3 4 4 7 7 8 5
3530 &R THT 21 16 12 6 10 19 18 19 14 17
3540 =B KHT 6 13 3 6 2 6 3 8 5 9
3550 AEFHT 10 15 10 14 16 9 16 15 15 19
3560 = T B HET 1 7 3 4 5 4 9 11 3 10
3570 = T AT 11 8 5 12 9 14 13 6 18 11
3580 FLIFTHT 3 8 3 8 8 9 8 6 15 4



XH24 T F REARBIREZD—EREIZKYSNEANZEH-AO
[R4.9.30IR7E JATEET 4 (K=F) AlE A A O (%)

THET(KF)a—K {TEET (K=FE)® 603 6173 623 63/ 645 65/ 66F 67/ 68F 69

3590 JEMT 0 1 0 0 0 0 0 0 0 0
9999 S HKXE 61 74 47 59 56 67 74 76 79 78
4010 41| RET 1 5 2 7 4 5 5 4 3 3
4020 {E&HT 0 1 0 0 2 0 2 0 1 2
4030 5HT 3 6 3 3 3 6 2 6 3 3
4040 = HEAHT 1 5 3 3 0 0 5 3 5 4
4050 7K EHT 10 7 5 5 7 5 4 11 11 4
4060 E5Z HAT 3 1 3 1 3 3 6 5 5 3
4070 JtJRHET 3 3 3 2 5 6 2 1 2 1
4080 =;T;HAMT 3 2 1 4 4 5 6 3 6 2
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